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Grammar Lesson One — Read the text
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Grammar Lesson One - Activity
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Grammar Activity 2

S22 Name: |{Activity sheet
h | can use the apostrophe for possession.
A r’

An aposfrophe is used fo show possession (that something
belongs to somebody or something).

To show possession of a singular noun you add an apostrophe and an s at
the end of the word. For example: the parrot’s wings.

To show possession of a plural noun you either:

- add an apostrophe if the word ends in s. For example: the rats’ tails.

« or add an apostrophe and then an s if the word does not end in 5.
For example: the men’s swords.

e ———

Underline the correct form of the possessive noun:

@ lookat this! Itis Egg’s / Eggs'frying pan.

© Don'tlie there! Itis Barnaby's / Barnabys’ hammock.

© All the rat's / rats’ eyes were glowing red in the dark.
© The buccaneers took the ladie’s / ladies’ jewellery.
© The pirate’s / pirates’ boots were too big for me.

© The captain stole the people's / peoples’ gold.

€ The parrot's / parrots’ beaks were bright red.

© The parrot’s / parrots' tail was green.

»
4, © The children’s / childrens’ books were all about pirates.

D The ship's / ships'cat lay asleep on the deck.
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Spelling Look Cover Write Check




Spelling Activity One
Activity Sheet

Term 3 5et 2 Week 5

Add -ion to the words below.

My words ending in t don’t My words ending in te
need any changes. need the e removing first.

N

[ LT,

5 1'.2"_')
act relate
correct ... pollute
invent ... translate ........................
inject e educate
attract ... situate
construct ........................ populate

Buddy wants to be a rapper. Help him choose some rhymes
from his list above to help him finish his rap.

¢ \
Each generation needsits .................... ...

We need a world solution to stop thebad .................... ..
Do we have the habitation for therising ........................ 7

Let's have some publication to help this .......................
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Spelling Activity Two

4 L <

Activity Sheet
Term 3 Set 2 Week 5

Use the spellings below to complete the sentences in your
own words.

chef machine parachute brochure moustache chalet

| want to make my own clothes, so J

)
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Horizonal is like when you're laying in bed.
Vertical is like when you're standing up.
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Parallel lines stay the same distance apart.

Perpendicular lines meet at a right angle.
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Maths Challenge

Challenge 1

Jane is standing in a queue.
There are 5 people in front of her.
There are 2 people behind her.

How many people are in the queue?

Challenge 2

! I have 80 pence.]

Rosle
@0
[ I have 12 pence. }
Mo |

Challenge 3
70 + (=100

50 + A\ =100
T+ A+l =100

What is the value of the blue square?

1t

Rosie gives Mo 25 pence.

Rosie have than Mo now?

How much more money does

Answers

Challenge 1 - 8 people

Challenge 2 - 18 pence

Challenge 3 - The blue square is equal to 20




2,3,4,5,8,10,11,12

Times Tables

Week 1 Session 1

2019-20

2,345,810, 11,12« tables
5 aweek

Marme:
Times Tables
Rock Stars

Licensed o 5t Denys. Primary School

1 Ix2= A
2 5x7= R
3 Bxg= 13
4 12x6=_ 24
5 gx12= 25
6 5x7= 126
7 3}.;9._ 27
8 0x3= 28
9 S5x3= 28
10 Wwx12= 30
11 sxnp=s_ |3
12 3}.;9._ 32
13 1uxz2=_ 03
14 2x10= 34
15 2x1= |3
16 3x12= 36
17 5x4= 37
18 5x1= 8
19 12x4= |3
20 l1x1l= 40

Bx3is=

4x 7=

2xT=

2xTs=

12x2=

lix5=

x7=

Bx2=

l1x4=

dx12=

1xi=

0x5=

Bx5=

TuB=

gx =

gxl2=

x4=

Gxll=

12x 11 =

11 x5m=

41

42

43

44

45

46

a7

48

49

50

51

52

53

54

55

56

57

58

59

&0

5x 3=

Bxd4=

5x1l=

Sxl=

61l =

BxH=

10x1l=

2xi=

11 x 10 =

Twll=

ixi=

Sx 2=

Bx5=

11 = 10 =

lx5=

10 x 2=

ixd=

Gxld=

Txd=

dx12=

Time taken

(¥ 3 minute time limit

Score

60

What's your rock status?

WANNABL

< 18 carect in 3 ming

SARAGE Ro<hER

1E-19 carrect in 3 mird

BUSKIR

20-Z1 carrect in 3 mirns

SI44ER

22-24 correct in 3 mirs

UNASNTD ACT

25-79 carrect in 3 mirs

BRUAKTHROUGH ARTIHT

30-35 carrect in 3 mins

FUPPORT AQT

36-44 carrect in 3 mirs

HEAPUNER

45-59 carrect in 3 mirs

ok 7T

All correct in = Imirs

ROk LESEND

All carrect in = 2min

o<k HERo

All correctin = 1 fmin

TUHES TABLES
Rodh FTaRy



Marme:

Times Tables

Week 1 Session 2

1

10

11

12

x 10

® 5

11
x5

[

10

Rock Stars
Licensed to S5t Denys Primary School

12 13
x5

5 14
® 7

11 15
® B

10 16
* 5

Z 17
]

11 18
w7

11 19
® 4

10 0
* 8

12 21
]

12 23
B

11 23
xS

4 24
®1

2,3,4,5,8,10,11,12
Times Tables

25 12 37 4
x5 w4
6 11 18 4
10 ® 11
27 8 19 11
® 10 ® 11
28 10 a0 5
® 1 W 4
29 4 41 12
| w1l
10 12 42 12
%5 ¥ 10
31 8 43 3
® 10 W 4
32 4 44 5
% B % 4
33 8 45 5
* B » B
34 8 a6 5
% 8 ¥ 11
35 4 47 3
® 10 W 4
36 5 48 2
®x1 * 10

49

51

59

B0

2019-20
2,3458.10, 11,12 tables
5 aweek
11
® B
Time taken
11
x 4
1 3 minute time limit (5
3 Score
® 11
2 60
» 10
10 What's your rock status?
w2
WANNABL
= 18 conrect in 3 mins
2
7 GARALT ROCkER
1B-19 carrect in 3 mins
BUSKTR
5 20-21 carrect in 3 mifs
X2 GI4SER
22-24 carrect in 3 mins
UNAGNT ALT
® 12 25-29 carrect in 3 mins
BRIAKTHR OUGH ARTEST
30-35 carrect in 3 mins
3
%11 juﬂﬁﬁ*TﬂT
36-44 carrect in 3 mins
HEAPUNGR
3 45-59 carrect in 3 mirs
¥ 3
ok #TAR
All carrect in = 3mird
modh LEGEND
®* 12 Al carrect in = 2min
Fodh HRO
All carrect in = 1 min
11
%9 TUHE TABLLY

§odk 7Ty



Marme: Week 1 Session 3
2,3,4,5,8,10,11,12 2019-20
Times Tables s 2,3,4,5,8,10, 11,12« tables
Rock Stars Times Tables & 3 week
Licensed fo 5t Denys Pmary Schoal
1 Bx8= 21 dx5= 41 Txi=
2 2x2= 22 ixG= 42 10 3= Time taken
3 2x9s= 23 Bx8= 43 Txls=
E— — F 3 minute time limit %
4 11xl= 24 0x5= 44 Bx 4=
- E— Score
5 dxls= 25 2xb= 45 11x 5=
6 10x1l= 26 12x2= 46 1x5= 60
7 2xB= 27 2xbB= 47 12x 8=
- — What's your rock status?
B 11x8= 28 dx1l= 48 Txd=
“HANNARE
9 BExls= 29 Ixd= 49 Ix10= < 18 comact in 3 ming
SARA4E ROdhiR
10 Ixls= 30 0% 6= 50 7K 4= 1B-19 garrect in 3 mirg
o T T BUMKR
11 11x3= i Gx1l= 51 4x 7= 20-21 carrect in 3 mifs
44T
12 2x7= 32 Ixd= 52 4% 4= 22-24 correct in 3 mirs
UNFASNED AT
13 Ax7T= EE] Txd= 53 B 3= 25-79 carrect in 3 mins
BAUAKTHA OUGH ARTIT
14 2wib= 34 xi1? = 54 1% 10= 30-35 carrect in 3 mirs
FUPPORT AQT
15 Bxd= 35 12x10= 55 Ix1ll= 36-44 carrect in 3 mirs
HEAPLINER
16 Bx2= 3B Ewl?= 56 Bxd= 45-59 carrect in 3 mins
R - P
17 Exd= 37 Ex5= 57 11x12= Al carrect in = 3mmirs
R o<k LESEND
18 IxT= 38 10x3= 58 1% 5= All carrect in < 2min
70 HeRo
19 11x12= L] e 59 Exi17= &l carrect in = 1 fmin
TLHES TABLEY
20 2x9= 40

11x12 = &0 Tx 5= Mfrlll



MName: Week 1 Session 4
Times Tables 2,3,4,5,8,10,11,12 2019-20
. 2,345,810, 11,12x tables
Rock Stars Times Tables 5 aweek
Licensed to 5t Denys Primary Schoal
1 8 13 10 25 4 37 4 49 3
® R %11 w7 w7 ® 11
- - Time taken
2 4 14 4 2% 10 1H B ] 11
x4 x 3 ® 12 w1 x 12
3 minute time limit %)
3 11 15 8 27 5 39 10 51 12 Score
% 11 %11 w7 w7 x 10
4 12 16 11 28 3 anp 10 52 4 60
x4 ® 3 | w7 ® B
What's your rock status?
5 2 17 2 29 11 41 3 53 2
w5 ] ® 6 % B ® 4
SHANNABL
= 1B carrect in 3 miins
(1] 11 18 12 a0 4 42 B 54 3
X 6 % 10 “ 4 3 3 GARAGE BodhiR
1E-19 carrect in 3 mins
BUAKTR
7 2 19 10 31 12 43 4 55 3 20-21 earrect in 3 mirs
®3 w3 w7 ¥ 3 w9 ‘ﬂiﬂﬁ’
22-24 carrect in 3 mirs
g ] 20 2 13 12 a4 2 56 3 l.l"?lﬁ NED A4T
® 3 % 12 w7 % 6 ® B 25-29 oarrect in 3 mins
BRUAKTHR OUGH ARTIAT
30-35 carrect in 3 mins
g 10 il 8 33 5 45 4 57 1
® 7 w7 ® 12 ® 11 ® g :H-lml"’THT
36-44 carrect in 3 mins
HEAPUNER
10 8 22 8 34 4 46 3 58 10 45-53 carrect in 3 mins
Al earrect in = 3mirs
n 10 3 4 35 12 a7 3 s9 10 ok Lt
® 3 ® 6 o 4 W 4 3 All correct in = 2rin
ok Hime
All carrect in = 1 fin
12 Z 24 4 36 3 48 3 60 10
x4 x 4 x 11 ® 12 % 2 TUHES TABLLS

Rodh 2TaRy



2,3,4,5,8,10,11,12

Times Tables

Week 1 Sescion 5
201%-20

2,3,4.5,8,10, 11,12x tables
5 aweek

Name:
Times Tables
Rock Stars

Licensed to 5t Denys Prmary Schoal

1 12:-:4:_ 1 11x1iis=
2 12u2=_ 22 llx2=
3 1]_:;]_1:_ 23 Bx2=
4 4:3:_ 24 11x3=
5 ]_uu4=_ 25 lixds=
& 3u3=_ 2B 11x1l=
7 3:3:_ 27 ixAs=
8 3:5:____ 28 InTs
9 l0x4= 29 Wx7=
10 0x3= 30 4xd4=
11 5;.54:_ 3l 1x2=
12 4x3= 32 2x1ll=
13 12x3= 3 1ux12s=
14 4:-:4:_ 34 ixis
15 2x4= 3B ax10=
16 Ixi= 36 9x12 =
17 3:2:_____ a7 Bx5=
18 BuS:_ 38 0x4=
19 2u3=_____ 39 Ix 3=
20 2x6= 0 10x4=

41

42

43

44

45

46

a7

48

49

50

51

52

53

54

55

56

57

58

59

&0

4dx10=

4% 5=

1x1ls=

12x11=

10x 4=

4xH=

1x 3=

ll1x 8=

4x1l=

bxB=

9x10=

BxH=

Buis=

Ix12=

12 %10 =

10x 3=

1x&=

luds=

Bx 3=

Inds=

Time taken

¥ 3 minute time imit 5

Scare

60

Add up your time
Mins

51
52
53
54
55

Total

Secs
51
52
53
54
55

Total

Add up your score
51
52
53
54
55

Total




Writing Challenge.

Using the plan on the next sheet, can you think of another ending
to the Jack and The Beanstalk story?

When you get to the bit about Jack reaching the top of the

beanstalk, I would like you to:

« Describe what Jack can see (people and things) using
adjectives and similes

« Keep to the mood - is it a scary or exciting or beautiful place?

« Use wow words

 Check spellings and punctuation



Jack and the Beanstalk Alternative Ending
Story Plan

Can you plan an alternative version of the Jack and the Beanstalk story?

magic beans to a mysterious stranger.

ack's mother was very angry and threw the beans
into the garden. Overnight, the magic beans grew !
into a beanstalk and Jack climbed up it. ’r 3
Where does the beanstalk take Jack and
who does he meet?
[ What does Jack take back to his mother? [ ]

Jack lived with his mother in a very old cottage.
They were very poor so he sold his cow for some

What happens at the end of the story?




Garden Birds

Why do Birds Matter?
Birds are really useful creatures. They help the environment in the

following ways:
* They help plant life by scattering seeds.

+ They help control insect populations by eating insects.

» Some birds, like magpies and crows, eat dead animals. This
gets rid of the rotting animals which could cause diseases.

Numbers of Common RSPB
Garden Birds The Royal Society for

There has been a big drop in the Protection of Birds -

starlings in the last few years. a charity that protects
Some people think this is because British birds.

farming has made it more
difficult for them to find crane fly
larvae - their favourite food.

Big Garden Birdwatch
- A yearly event where

Since the 1970s, the number of people tell the RSPB
house sparrows has also dropped. which birds they see.
This could be because of cats or The information is

air pollution as more cars are gathered to see if there
being used. However, in the last are any changes in bird
10 years the number of house populations.

sparrows has improved.

At the beginning of 2019, there were more sightings of goldfinches and
redwings. A warmer winter meant more of these tiny birds survived.

Migration

Some birds leave the UK during the winter months because it is too cold for
them. They go somewhere where it is warmer. When it starts to get warmer in
the UK, they come back. This s called migration.

Y.




Garden Birds

» Swifts and swallows migrate to Africa.
» They can fly 200 miles every day.

» Many die from starvation, exhaustion and storms.

British Birds

Robins:
+ have a bright red breast;

- are very aggressive and will fight birds who come
to their territory;

» sing all year round;

» can be seen in British gardens all year round.

Magpies:
+ have a loud, chattering call;

» can be easily seen with their black and
white feathers;

» hunt for leftover food and dead animals;

» are important insect controllers.

Blue Tits:
+ have bright yellow and blue feathers;

« lay eggs between the end of April and May;
+ male and female blue tits look the same;

« inwinter, family flocks join up with other blue tits
to find food together.




Reading Questions

1. How do birds help the environment? Tick two.

(O They scatter seeds.
(O They sing beautifully.
(O They eat insects.

(O They build nests.

2. What is a starling’s favourite food?

3. Which two birds were there more sightings of in early 20197 Tick one.

O magpies and redwings
O goldfinches and redwings
(O crows and goldfinches

O swifts and swallows

4. When do swifts and swallows return to the UK? Tick one.

O When the weather gets cold.
O When the weather gets warmer.

(O When they are tired.
O When it is too stormuy.

5. Tick the boxes to say whether the sentences are true or false.

Sentence True False

Robins only sing in the winter.

Magpies have black and white feathers.

Blue tits lay eggs at the end of May.

Robins are peaceful birds.

6. What is migration?

7. Why do you think the RSPB was created? Use evidence from the text to support your

answer.
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Maths ¢) Draw a vertical line 5 cm long.

s N

Horizontal and vertical

o Circle the line that is horizontal.

o Circle the line that is vertical.
° Tick two horizontal lines on the gate.

o Use a ruler to draw the lines.

a) Draw a horizontal line 5 cm long.
' ™

@

\ o Tick three vertical lines on the chair.

b) Draw a line that is not horizontal or vertical.

e 3
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.
o Here are some flags. o Tick the shapes that have a vertical line of symmetry.
a) Circle the flags that have horizontal stripes. Draw on the shapes to show the line of symmetry.

- ;’f
/
v
b) Circle the flags that have vertical stripes.

-

¢) Is the statement true or false?
This flag has vertical and horizontal stripes. / \ ; \

=

=1

o Tick the shapes that have a horizontal line of symmetry.

Draw on the shapes to show the line of symmetry.
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Parallel and perpendicular

o Tick the pairs of lines that are not parallel.

/(17\

o Here are two lines.

Draw a line that is parallel to each.

b) e..j_

K@

a) eq.

o Amir says that the lines are not parallel because they are
different lengths.

Is Amir correct? _Na

o Tick the perpendicular lines.

A

o Here are two lines. Draw a line that is perpendicular to each.

“““3' b) K

K&

o Alex has drawn some lines on grids.
a)

The lines are not
perpendicular because
they don’t meet.

Do you agree with Alex? Ao

o a) Here is a line. Draw a line that is not parallel to it.

s ™
e.9.
A S
b) Here is a line. Draw a line that is parallel to it.
s ~
g
AN S

o Here are two lines.

Draw a line that is parallel to each.

a)

b)

/

Talk to a partner about how you did it.

b)

The lines are
parallel because they
don’t meet.

Do you agree with Alex? __Mo

Talk about your answers with a partner.

° Five lines are drawn on the grid.

a)

b)

Which two pairs of lines are parallel?

Aad C 2 DadE

Which two pairs of lines are perpendicular?

Aand B 5 Rag C
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|
Recognise and describe 2D shapes o Dora and Ron each have a shape.

- ’ ‘,

Why is Dora incorrect?

square A lﬂﬁﬂgﬂ has bnree sb‘oi\cjlt scdap, This shage

d

My shape
has three sides, so it
is a triangle.

o Match the shapes to the labels.

pentagon
b)

My shape is
™) Yy shap
. triangle “-@ @ house.

Why might Ron think that? Talk to a partner.

| hexagon .
What is the mathematical name for Ron’s shape?

|

o Use the words to label the shapes.

rectangle ) ( hexagon l circle |triung|e |pentagon o Here are some shapes
a O 9 . a) Circle all the quadrilaterals.
circla tnan 3‘@_ g @

=
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b) Draw three more quadrilaterals. g o What is the name of each shape?

A @

he@sm Ocko ooy

=
What do you notice about all the shapes you have drawn? @
¢} Is this shape a square?

Circle your answer. @ no
NN Gery dacoonn
J J
3cm w How do you know? Talk about it with a partner.
3em 3cm
o Each shape has at least one pair of parallel sides.
Draw on the shapes to show the parallel sides.
Compare answers with a partner. @

o This shape is o hexagon. I

Why is it a hexagon?

Jthap 6 stden




Turns and angles

o Which pictures show at least one angle? Tick your answers.

Compare answers with a partner.

Y

° The arrows are being turned clockwise.

Match the picture to the turn.

half turn
quarter turn

% three-quarter turn

full turn

° Esther and Brett are showing what time it will be in a quarter
of an hour.

)

Here is the time now.

Here are their answers.

Esther

Who is correct?

Talk about it with a partner.

o Draw hands on the clocks to show the new times.

half an hour later

quarter of

an hour later

° Here is a compass.

a) Aisha is facing north.
She turns a quarter turn clockwise.

What direction is she facing now? __Ease

b) Tommy is facing north.

He turns a quarter turn anticlockwise.

What direction is he facing now? West
c) Annie is facing east.

She turns a three-quarter turn clockwise.

What direction is she facing now? North

° Mo and Eva are answering a question.

Mr Lee is facing west. He turns a half turn.
What direction is he facing now?

I cannot answer
this because we don’t
know what direction
he turns in.

It does not
matter about
the direction!

|

Who do you agree with?

Talk about it with a partner.

© White Rose Maths 2020

three-quarters of
an hour later

half an hour later

o A figure skater is facing
the direction shown.
She turns a quarter turn
clockwise and then a
three-quarter turn clockwise.

a) Draw on the picture to
show that she ends up facing the same way as she started.

b) What other turns could she make and still end up facing
the same way?

Vodous onswers

Compare answers with a partner.

© White Rose Maths 2020




Garden Birds

Answers

1. How do birds help the environment? Tick twe.

@ They scatter seeds.
(O They sing beautifully.
@) They eat insects.
(O They build nests.
2. What is a starling’s favourite food?
A starling's favourite food is the crane fly.
3. Which two birds were there more sightings of in early 20197 Tick ons.
(O magpies and redwings
@ goldfinches and redwings
O crows and goldfinches

O swifts and swallows
4. When do swifts and swallows return to the UK? Tick ons.

(O When the weather gets cold.
@ When the weather getz warmer.
(O When they are tired.

) When it is too stormuy.

5. Tick the boxes to say whether the sentences are true or false.

Sentence True False
Robins only sing in the winter. v
Magpies have black and white feathers. v
Blue tits lay eggs at the end of May. v
Robins are peaceful birds. v

6. What is migration?

Migration is when birds leave a country during the winter months to go somewhere warmer.

7. Why do you think the RSPB was created? Use evidence from the text to support your
answer.
Pupil’s own response, such as: 'I think the RS5PB was created because there are fewer birds

(like houze sparrows and starlings) because of pollution and farming and birds are important
to the environment so must be protected.’
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| can use the apostrophe for possession.

Page 38
All the rats’ eyes were glowing red in the dark.

Don't lie there! It is Barnaby’s hammock.
The buccaneers took the ladies’ jewellery.
The pirate’s boots were too big for me.

The children's books were all about pirates,
The ship's cat lay asleep on the deck.

The captain stole the people’s gold.
The parrots’ beaks were bright red.

Look at this! It is Egg's frying pan.
The parrot’s tail was green.
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